# Transient Currents in a Double Conductor Line above a Conducting Half-Space 

Valentina Koliskina, Inta Volodko


#### Abstract

Transient eddy current problem is solved in the present paper by the method of the Laplace transform for the case of a double conductor line located parallel to a conducting half-space. The Fourier sine and cosine integral transforms are used in order to find the Laplace transform of the solution. The inverse Laplace transform of the solution is found in closed form. The integrated electromotive force per unit length of the double conductor line is calculated in the form of an improper integral.


Keywords-Transient eddy currents, Laplace transform, double conductor line.

## I. Introduction

THEORY of an eddy current method for the case where a coil is excited by an alternating current is well-developed in the literature [1]-[4]. Current excitation in the form of a pulse represents an alternative to traditional eddy current methods. There are two basic methods that are usually used to analyze non-periodic time-dependent signals in eddy current testing: fast Fourier transform and Laplace transform. The difficulty in using the Laplace transform is that the inverse transform is not always available in closed form. However, several authors [5]-[8] have obtained analytical solutions for problems where a single-turn coil or a coil with finite dimensions is located above a conducing half-space assuming that the excitation current is in the form of a step current or exponential source current.
In the present paper we consider transient eddy current problem for the case where an excitation coil is assumed to be of the form of a double conductor line formed by two infinitely long wires located parallel to a conducting half-space. The inverse Laplace transform is found in closed form for the case of an excitation current in the form of a unit step function.
V. Koliskina is with the Department of Engineering Mathematics of the Riga Technical University, Riga, Latvia (phone: 371-6708-9528; fax: 371-6708-9694; e-mail: v.koliskina@ gmail.com).
I. Volodko is with the Department of Engineering Mathematics of the Riga Technical University, Riga, Latvia (phone: 371-6708-9528; fax: 371-6708-9694; e-mail: inta.volodko@rtu.lv).

## II.MATHEMATICAL FORMULATION OF THE PROBLEM

Different types of eddy current coils are used in applications. One example is a coil in the form of a rectangular frame. If the ratio of the sides of the frame is $4: 1$ or larger then such a coil can be modeled by a double conductor line [9] with a relatively small error. Suppose that two horizontal infinitely long parallel wires are situated above a conducting half-space with electrical conductivity $\sigma$ and relative magnetic permeability $\mu$ (see Fig. 1).


Fig. 1 A double conductor line above a conducting half-space

Assume that the current in the wires is

$$
\begin{equation*}
I(t)= \pm I_{0} \varphi(t) \tag{1}
\end{equation*}
$$

at the points $\left(y_{0}, h\right)$ and $\left(y_{1}, h\right)$, respectively, where $I_{0}$ is a constant, and $\varphi(t)$ is the Heaviside function of the form
$\varphi(t)= \begin{cases}1, & t>0 \\ 0, & t<0\end{cases}$
We assume that the electric field $\vec{E}_{0}$ and $\vec{E}_{1}$ in regions $R_{0}=\{z>0\}$ and $R_{1}=\{z<0\}$, respectively, has only one non-zero component in the $x$-direction:

$$
\begin{equation*}
\vec{E}_{i}=E_{i}(y, z, t) \bar{e}_{x}, \quad i=0,1 \tag{3}
\end{equation*}
$$

where $\vec{e}_{x}$ is the unit vector in the positive $x$-direction. The system of Maxwell's equations in this case can be transformed to one equation for the electric field which has the following form in regions $R_{0}$ and $R_{1}$ :

$$
\begin{align*}
& \frac{\partial^{2} E_{0}}{\partial y^{2}}+\frac{\partial^{2} E_{0}}{\partial z^{2}}=\mu_{0} \frac{\partial I}{\partial t} \delta(z-h)\left[\delta\left(y-y_{0}\right)\right.  \tag{4}\\
& \left.-\delta\left(y-y_{1}\right)\right], \\
& \frac{\partial^{2} E_{1}}{\partial y^{2}}+\frac{\partial^{2} E_{1}}{\partial z^{2}}-\mu_{0} \mu \frac{\partial E_{1}}{\partial t}=0, \tag{5}
\end{align*}
$$

where $\delta(\xi)$ is the Dirac delta-function.
The boundary conditions are

$$
\begin{equation*}
\left.E_{0}\right|_{z=0}=\left.E_{1}\right|_{z=0},\left.\quad \frac{\partial E_{0}}{\partial z}\right|_{z=0}=\left.\frac{1}{\mu} \frac{\partial E_{1}}{\partial z}\right|_{z=0} . \tag{6}
\end{equation*}
$$

In addition, the following conditions hold at infinity:

$$
\begin{equation*}
E_{0}, E_{1}, \frac{\partial E_{0}}{\partial y}, \frac{\partial E_{1}}{\partial y} \rightarrow 0 \text { as } \sqrt{y^{2}+z^{2}} \rightarrow \infty \tag{7}
\end{equation*}
$$

The initial conditions are

$$
\begin{equation*}
\left.E_{0}\right|_{t=0}=0,\left.\quad E_{1}\right|_{t=0}=0 \tag{8}
\end{equation*}
$$

## III. LAPLACE TRANSFORM OF THE SOLUTION

Applying the Laplace transform to (4)-(7) we obtain

$$
\frac{\partial^{2} \bar{E}_{0}}{\partial y^{2}}+\frac{\partial^{2} \bar{E}_{0}}{\partial z^{2}}=\bar{f}(y, z, s),
$$

$$
\begin{equation*}
\frac{\partial^{2} \bar{E}_{1}}{\partial y^{2}}+\frac{\partial^{2} \bar{E}_{1}}{\partial z^{2}}-\mu_{0} \mu s \bar{E}_{1}=0 \tag{10}
\end{equation*}
$$

$$
\begin{equation*}
\left.\bar{E}_{0}\right|_{z=0}=\left.\bar{E}_{1}\right|_{z=0},\left.\quad \frac{\partial \bar{E}_{0}}{\partial z}\right|_{z=0}=\left.\frac{1}{\mu} \frac{\partial \bar{E}_{1}}{\partial z}\right|_{z=0} \tag{11}
\end{equation*}
$$

$\bar{E}_{0}, \bar{E}_{1}, \frac{\partial \bar{E}_{0}}{\partial y}, \frac{\partial \bar{E}_{1}}{\partial y} \rightarrow 0$ as $\sqrt{y^{2}+z^{2}} \rightarrow \infty$,
where $\bar{E}_{0}, \bar{E}_{1}$ and $\bar{I}$ are the Laplace transforms of the functions $E_{0}, E_{1}$ and $I$, respectively, $s$ is the parameter of the Laplace transform, and
$\bar{f}(y, z, s)=\mu_{0} s \bar{I}(s) \delta(z-h)\left[\delta\left(y-y_{0}\right)\right.$

It is convenient to represent the function $\bar{f}(y, z, s)$ in (13) as the sum of even and odd functions of the form

$$
\begin{align*}
& \bar{f}(y, z, s)=\frac{1}{2}[\bar{f}(y, z, s)+\bar{f}(-y, z, s)] \\
& +\frac{1}{2}[\bar{f}(y, z, s)-\bar{f}(-y, z, s)]=\bar{f}_{\text {even }}(y, z, s)  \tag{14}\\
& +\bar{f}_{\text {odd }}(y, z, s)
\end{align*}
$$

where

$$
\begin{align*}
& \bar{f}_{\text {even }}(y, z, s)=\frac{\mu_{0} s \bar{I}(s)}{2} \delta(z-h)\left[\delta\left(y-y_{0}\right)\right.  \tag{15}\\
& \left.-\delta\left(y-y_{1}\right)\right]
\end{align*}
$$

$$
\bar{f}_{\text {odd }}(y, z, s)=\frac{\mu_{0} s \bar{I}(s)}{2} \delta(z-h)\left[\delta\left(y-y_{0}\right)\right.
$$

$$
\left.-\delta\left(y-y_{1}\right)\right]
$$

The following properties of the delta-function are used in order to derive (14) and (15): (a) $\delta(-y)=\delta(y)$ and (b)
$\boldsymbol{\delta}\left(y+y_{0}\right)=0, \boldsymbol{\delta}\left(y+y_{1}\right)=0$ if $\quad y \geq 0$ and $y_{0}>0, y_{1}>0$.
Thus, the solution to (9)-(12) is sought in the form

$$
\begin{equation*}
\bar{E}_{i}(y, z, s)=\bar{E}_{i e v e n}(y, z, s)+\bar{E}_{i o d d}(y, z, s), i=0,1 \tag{16}
\end{equation*}
$$

The Fourier cosine transform of the form
$\bar{E}_{i}^{(c)}(\lambda, z, s)=\int_{0}^{\infty} \bar{E}_{i}(y, z, s) \cos \lambda y d y, \quad i=0,1$
is used to find the even component of the solution. Applying the Fourier cosine transform (17) to (9)-(12) where the function $\bar{f}(y, z, s)$ in (9) is replaced by $\bar{f}_{\text {even }}(y, z, s)$ we obtain
$\frac{d^{2} \bar{E}_{0}^{(c)}}{d z^{2}}-\lambda^{2} \bar{E}_{0}^{(c)}=\frac{\mu_{0} s \bar{I}(s)}{2} \delta(z-h)\left[\cos \lambda y_{0}\right.$
$\left.-\cos \lambda y_{1}\right]$,
$\frac{d^{2} \bar{E}_{1}^{(c)}}{d z^{2}}-q^{2} \bar{E}_{1}^{(c)}=0$,
$\left.\bar{E}_{0}^{(c)}\right|_{z=0}=\left.\bar{E}_{1}^{(c)}\right|_{z=0},\left.\quad \frac{d \bar{E}_{0}^{(c)}}{d z}\right|_{z=0}=\left.\frac{1}{\mu} \frac{d \bar{E}_{1}^{(c)}}{d z}\right|_{z=0}$,
where $q=\sqrt{\lambda^{2}+\mu_{0} \mu \sigma s}$.
In order to solve (18) we consider two sub-regions, $R_{00}=\{0<z<h\}$ and $R_{01}=\{z .>h\}$, of region $R_{0}$. The
solutions to (18) in $R_{00}$ and $R_{01}$ are denoted by $\bar{E}_{00}^{(c)}$ and $\bar{E}_{01}^{(c)}$, respectively.
The general solution to (18) in $R_{00}$ is
$\bar{E}_{00}^{(c)}(\lambda, z, s)=C_{1} e^{\lambda z}+C_{2} e^{-\lambda z}$.

The general solution to (18) in $R_{01}$ which is bounded as $z \rightarrow+\infty$ has the form

$$
\begin{equation*}
\bar{E}_{01}^{(c)}(\lambda, z, s)=C_{3} e^{-\lambda z} \tag{22}
\end{equation*}
$$

Finally, the general solution to (19) which remains bounded as $z \rightarrow-\infty$ can be written as follows

$$
\begin{equation*}
\bar{E}_{1}^{(c)}(\lambda, z, s)=C_{4} e^{q z} \tag{23}
\end{equation*}
$$

Since there are four unknown constants in (21)-(23) and only two boundary conditions (20), we need two additional conditions at $z=h$. One additional condition represents continuity of the electric field at $z=h$ and has the form

$$
\begin{equation*}
\left.\bar{E}_{00}^{(c)}\right|_{z=h}=\left.\bar{E}_{01}^{(c)}\right|_{z=h} \tag{24}
\end{equation*}
$$

Integrating (18) with respect to $z$ from $h-\varepsilon$ to $h+\varepsilon$ and taking the limit as $\varepsilon \rightarrow+0$ we obtain the second additional condition in the form

$$
\begin{equation*}
\left.\frac{d \bar{E}_{01}^{(c)}}{d z}\right|_{z=h}-\left.\frac{d \bar{E}_{00}^{(c)}}{d z}\right|_{z=h}=\frac{\mu_{0} s \bar{I}(s)}{2}\left(\cos \lambda y_{0}-\cos \lambda y_{1}\right) \tag{25}
\end{equation*}
$$

The constants $C_{1}, C_{2}, C_{3}$ and $C_{4}$ in (21)-(23) are determined from (20), (24)-(25) and have the form

$$
\begin{align*}
& C_{1}=\frac{\mu_{0} s \bar{I}(s)}{4 \lambda}\left(\cos \lambda y_{0}-\cos \lambda y_{1}\right) e^{-\lambda h}  \tag{26}\\
& C_{2}=\frac{\mu_{0} s \bar{I}(s)}{4 \lambda} \frac{(\lambda-q)}{(\lambda+q)}\left(\cos \lambda y_{0}-\cos \lambda y_{1}\right) e^{-\lambda h}  \tag{27}\\
& C_{3}=C_{2}+C_{1} e^{2 \lambda h}  \tag{28}\\
& C_{4}=\frac{\mu_{0} s \bar{I}(s)}{2(\lambda+q)}\left(\cos \lambda y_{0}-\cos \lambda y_{1}\right) e^{-\lambda h} \tag{29}
\end{align*}
$$

$$
\begin{equation*}
\bar{E}_{i \text { even }}(y, z, s)=\frac{2}{\pi} \int_{0}^{\infty} \bar{E}_{i}^{(c)}(\lambda, z, s) \cos \lambda y d \lambda, \quad i=0,1 \tag{30}
\end{equation*}
$$

we obtain the solution $\bar{E}_{\text {ieven }}(y, z, s)$ in regions $R_{0}$ and $R_{1}$ :

$$
\begin{align*}
& \left.\bar{E}_{0 \text { even }}(y, z, s)=\bar{E}_{0}^{(\text {freee } e n e n}(y, z, s)+\bar{E}_{0}^{(\text {ind } \text { even }}\right) \\
& \\
& \bar{E}_{1 \text { even }}(y, z, s)  \tag{32}\\
& \times \int_{0}^{\infty} \frac{e^{q z-\lambda h}}{\lambda+q}\left(\cos \lambda y_{1}-\cos \lambda y_{0}\right) \cos \lambda y d \lambda
\end{align*}
$$

where

$$
\begin{align*}
& \bar{E}_{0}^{(\text {freee })}(y, z, s)=\frac{\mu_{0} s \bar{I}(s)}{2 \pi} \\
& \times \int_{0}^{\infty} \frac{e^{-\lambda|z-h|}}{\lambda}\left(\cos \lambda y_{1}-\cos \lambda y_{0}\right) \cos \lambda y d \lambda, \tag{33}
\end{align*}
$$

$\bar{E}_{0 \text { even }}^{\text {(ind) }}(y, z, s)=\frac{\mu_{0} s \bar{I}(s)}{2 \pi}$
$\times \int_{0}^{\infty} \frac{\mu \lambda-q}{(\mu \lambda+q) \lambda} e^{-\lambda(z+h)}\left(\cos \lambda y_{1}-\cos \lambda y_{0}\right) \cos \lambda y d \lambda$.

Here $\bar{E}_{0 \text { even }}^{(f r r e)}(y, z, s)$ is the even component of the electric field in free space while $\bar{E}_{0 \text { even }}^{(\text {ind })}(y, z, s)$ is the even component of the induced electric field due to the presence of the conducting half-space.

The Fourier sine transform of the form
$\bar{E}_{i}^{(s)}(\lambda, z, s)=\int_{0}^{\infty} \bar{E}_{i}(y, z, s) \sin \lambda y d y, \quad i=0,1$
and the inverse Fourier sine transform

$$
\begin{equation*}
\bar{E}_{i \text { even }}(y, z, s)=\frac{2}{\pi} \int_{0}^{\infty} \bar{E}_{i}^{(s)}(\lambda, z, s) \sin \lambda y d \lambda, \quad i=0,1 \tag{36}
\end{equation*}
$$

can be used in order to find the odd components of the solution. It can easily be shown that the odd components of the solution, $\bar{E}_{0 \text { odd }}(y, z, s)$ and $\bar{E}_{1 \text { odd }}(y, z, s)$ are given by (31) and (32) where cosine is replaced by sine.

Finally, the solution to (9)-(12) is obtained as the sum of the even and odd components and can be written as follows
$\bar{E}_{0}(y, z, s)=\bar{E}_{0}^{(\text {free })}(y, z, s)+\bar{E}_{0}^{(\text {ind })}(y, z, s)$,
$\bar{E}_{1}(y, z, s)=\frac{\mu_{0} s \bar{I}(s)}{\pi}$
$\times \int_{0}^{\infty} \frac{e^{q z-\lambda h}}{\lambda+q}\left[\cos \lambda\left(y-y_{1}\right)-\cos \lambda\left(y-y_{0}\right)\right] d \lambda$,
where
$\bar{E}_{0}^{(\text {free })}(y, z, s)=\frac{\mu_{0} s \bar{I}(s)}{2 \pi}$
$\times \int_{0}^{\infty} \frac{e^{-\lambda|z-h|}}{\lambda}\left[\cos \lambda\left(y-y_{1}\right)-\cos \lambda\left(y-y_{0}\right)\right] d \lambda$
is the electric field of the double conductor line in free space and
$\bar{E}_{0 n}^{(\text {ind })}(y, z, s)=\frac{\mu_{0} s \bar{I}(s)}{2 \pi}$
$\times \int_{0}^{\infty} \frac{\mu \lambda-q}{(\mu \lambda+q) \lambda} e^{-\lambda(z+h)}\left[\cos \lambda\left(y-y_{1}\right)-\cos \lambda\left(y-y_{0}\right)\right] d \lambda$
is the induced electric field in free space due to the presence of the conducting half-space.

In order to determine the inverse Laplace transform of (40) we rewrite the expression $\frac{\mu \lambda-q}{\mu \lambda+q}$ in the form

$$
\frac{\mu \lambda-q}{\mu \lambda+q}=\frac{2 \mu}{\mu+\sqrt{1+\tau s}}-1,
$$

where $\tau=\mu_{0} \mu \sigma / \lambda^{2}$. The inverse Laplace transform of the solution is found in the next section.

## IV. Transient solution

Consider the case of a step current in the form (1). The Laplace transform of (1) is $\bar{I}(s)=I_{0} / s$ so that

$$
\begin{equation*}
\Phi(\lambda, s)=s \bar{I}(s) \frac{\mu \lambda-q}{\mu \lambda+q}=I_{0}\left(\frac{2 \mu}{\mu+\sqrt{1+\tau s}}-1\right) \tag{41}
\end{equation*}
$$

The inverse Laplace transform of (41) can be written as follows (see [10]):

$$
\begin{align*}
& \Phi(\lambda, t)=\frac{2 \mu I_{0}}{\tau} e^{-t / \tau} \\
& \times\left[\sqrt{\frac{\tau}{\pi t}}-\mu e^{\mu^{2} t / \tau} \operatorname{erfc}\left(\mu \sqrt{\frac{t}{\tau}}\right)\right]-I_{0} \delta(t) \tag{42}
\end{align*}
$$

Using (40)-(42) we obtain the inverse Laplace transform of the induced electric field in region $R_{0}$ in the form
$E_{0 n}^{(\text {ind })}(y, z, t)=\frac{\mu_{0} I_{0}}{2 \pi}$
$\times \int_{0}^{\infty} \frac{1}{\lambda} e^{-\lambda(z+h)}\left[\cos \lambda\left(y-y_{1}\right)-\cos \lambda\left(y-y_{0}\right)\right]$
$\times\left\{\frac{2 \mu I_{0}}{\tau} e^{-t / \tau}\left[\sqrt{\frac{\tau}{\pi t}}-\mu e^{\mu^{2} t / \tau} \operatorname{erfc}\left(\mu \sqrt{\frac{t}{\tau}}\right)\right]-I_{0} \delta(t)\right\} d \lambda$

The Laplace transform of the induced electromotive force (EMF) in a double conductor line per unit length due to the presence of the conducting half-space is given by (see [8]):

$$
\begin{equation*}
v(s)=\frac{1}{\bar{I}(s)} \int_{C} \vec{E}_{0}^{(\text {ind })}(y, z, s) \cdot \vec{I}(s) d l \tag{44}
\end{equation*}
$$

where $C$ is the contour of the double conductor line of length one unit in the $x$-direction. Using (40)-(44) we obtain the induced EMF in the form
$v(t)=\frac{\mu_{0}}{\pi} \int_{0}^{\infty} e^{-2 \lambda h}\left[\cos \lambda\left(y_{1}-y_{0}\right)-1\right]$
$\times\left\{\frac{2 \mu}{\tau} e^{-t / \tau}\left[\sqrt{\frac{\tau}{\pi t}}-\mu e^{\mu^{2} t / \tau} \operatorname{erfc}\left(\mu \sqrt{\frac{t}{\tau}}\right)\right]-\delta(t)\right\} \frac{d \lambda}{\lambda}$.

Using (45) we calculate the integral of the EMF with respect to time. The result is
$V(t)=\frac{\mu_{0}}{\pi} \int_{0}^{\infty} e^{-2 \lambda h}\left[\cos \lambda\left(y_{1}-y_{0}\right)-1\right]$
$\times\left\{\frac{2 \mu}{\mu^{2}-1}\left[\begin{array}{l}\mu-e r f\left(\sqrt{\frac{t}{\tau}}\right) \\ -\mu e^{\left(\mu^{2}-1\right) t / \tau} \operatorname{erfc}\left(\mu \sqrt{\frac{t}{\tau}}\right)\end{array}\right]-\varphi(t)\right\} \frac{\frac{d \lambda}{\lambda} .}{}$.

## V.Conclusions

Closed-form analytical solution of a transient eddy current problem is found in the present paper. Excitation coil is in the form of a double conductor line formed by two parallel infinitely long wires located above a conducting half-space. The current in the coil is modeled by a unit step function of time. The Laplace transform of the solution is found by the method of Fourier sine and cosine integral transforms. The inverse Laplace transform of the solution is found in the form of an improper integral.

## AckNOWLEDGMENT

The work has been supported by the European Social Fund within the project "Support for the implementation of doctoral studies at Riga Technical University".

## References

[1] C.V. Dodd, and W.E. Deeds, "Analytical solutions to eddy-current probe-coil problems", J. Appl. Phys., vol. 39, pp. 2829-2838, 1968.
[2] J. A. Tegopoulos, and E.E. Kriezis, Eddy currents in linear conducting media. New York: Elsevier, 1985.
[3] M.Ya. Antimirov, A.A. Kolyshkin, and R. Vaillancourt, Mathematical models for eddy current testing. Montreal: CRM, 1997.
[4] T.P. Theodoulidis, and E.E. Kriezis, Eddy current canonical problems (with applications to nondestructive evaluation). New York: Tech Science Press, 2006.
[5] J.R. Wait, "Propagation of electromagnetic pulses in a homogeneous conducting earth", Appl. Sci. Res., vol. 8, pp. 213-253, 1960.
[6] A.F. Chub, N.L. Bondarenko, and A.P. Stipura, "Nonstationary electromagnetic field of a coil located above a ferromagnetic halfspace", Soviet J. Nondestructive Testing, vol. 13, pp. 328-334, 1977
[7] R. Ludwig, and X.W. Dai, "Numerical and analytical modeling of pulsed eddy-currents in a conducting half-space", IEEE Trans. Magn., vol. 26, pp. 299-307, 1990.
[8] J. Bowler, and M. Johnson, "Pulsed eddy-current response to a conducting half-space", IEEE Trans. Magn., vol. 33, pp. 2258-2264, 2006.
[9] N.N Zatsepin, and V.M. Tatarnikov, "Theory of a superposed transducer", Soviet J. Nondestructive Testing, vol. 18, pp. 81-87, 1982.
[10] M. Abramowitz, and I.A. Stegun, Handbook of mathematical functions with formulas, graphs and mathematical tables. New York: Wiley, 1972.

